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Abstract

A study on the load of packet assembly on edge routers

Yamada Atsushi

With growing rate of Internet access around the world, the number of packets
transferred over network goes on increasing. So the trunk nodes are required to handle
the packets efficiently, and transfer them fast.

On the other hand, the present IP packet transmission has some inefficiency. In
fact, the size of the packets transferred from the access network to the backbone network
is smaller than the backbone network MTU (Maximum Transfer Unit). The packets
adapted to the size of the access network’s MTU are very small. These are transmitted
even on the backbone network without changing size. If many small packets carry the
data, the trunk nodes must process a lot of IP header, so increasing the processing
overhead on the trunk nodes increase. And because of the increasing amount of packet
header, we can’t utilize the bandwidth in network efficiently. So we focus attention on
that fact, and are studying the efficient method for transmitting the packets. We call
the method as "Packet Assembly”. In ”Packet Assembly” method, the small packets
are assembled at edge routers, and are transferred to backbone network as the large
packet. After that, it is transmitted efficiently in backbone network. Finally, at the
edge router just before the destination access network it is reassembled. In this way, we
aim to reduce the load of the router on backbone network and to make the process of
transferring packets more efficient.

In our system, the load on edge router may increase. So while assembling, we
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measured the CPU utilization on there by conducting experiment.
From the result of the experiment we thought about the availabilities of Packet

Assembly.

key words Packet Assembly, MTU, IP, access network, core network, load



